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import java.applet.Applet;

import java.awt.*;
import java.awt.event.*;
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import java.lang.Math; Il java.lang /3 > r— 25 Math 7 7 A & Gt iA e

public class Gyanken2 extends Applet implements Runnable {

Thread myTh; AV y FRITCEST 5

Button[] myBtn; A2 HRICEST 5

Panel myPaneI IPSFNVFICEST 5

int im IFEECTE ST 5

Image%] img; I A—=VMTEETS B
MediaTracker myMt; NAT 47 N7 v h—BITEST5
int flag=0; IPEEONCES LT %

int r1=1,r2=2,r3=3; I3

int ct1=0; [/ES AEIE /o

long t; IEE e &

int d1=0,d2=0,d3=0,d4=0,d5=0,d6=0,d7=0; %R

int ct; HC % T DRI —TT1 7 o 7 —
int N=1000; 118 By

/lint count1=0; HFENDGZED T T ok

/****** publ IC VOId Inlt () 0) Bﬁ ﬁé‘\ *************************************************************/

public void init () {

setBackground (Color.lightGray) ; IS st%74 M7 L—I23%

myTh=null;

int count; IW—""F17 5 —

imgNo=0;

img=new Image[3]; )

r1=1;r2=2;r3=3; 27— a %, 3—oH)Hk

img[0] =getimage (getDocumentBase () ,' guujpg D; 17— 18 D F Fr A Fr
img [1]=getlmage (getDocumentBase () ,' 'pii.jpg’ ; T 2 X EHg O Fi A A I»
img [2] =getimage (getDocumentBase () ,"paa. jpg") X —TEHg D Fe i I
myMt=new MediaTracker (this); HAT 47 N7 v —DEK

for (count=0;count<=2;count++) { .
myMt.addImage (img[count],0); /AT 47 b7 v I —IZ W& EEMNT D

try {
myMt.waitForlD (0); /AT 4« 7 &7 v 1 — O % G Arirte

&:atch (InterruptedException e) {

myBtn=new Button[4]; AR 2 v DAL

myBtn[0] =new Button ("F (L™ ; R PE N[

myBtn[1]=new Button (" 1£"); IR 5 > DEMBAL

myBtn[2] =new Button ("{X ") ; 7R 5 2 D FEARAL

myBtn[3]=new Button ("{& 11"); IR % DFERE

myPanel=new Panel (); A VIARE=2N(4
IWRFNE 174D T Y KA T 7 M2t 5

myPanel.setLayout (new GridLayout(1,4));

for (count=0;count<=3:count++) { )

} myPanel.add (myBtn [count]); IRFAZRH 250 A1 %

setLayout (new BorderLayout()) ; NEfExER—2—L AT T MIT 5

add ("South",myPanel) ; ISV Z IS O AT 5
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myBtn [0].addActionListener (new ActionListener () { AR &
public void actionPerformed (ActionEvent e) {

flag=0; IR+

ct1=0; JJES TNk~

r1=1:r2=2;r3=3; 7 —F a 3=k
repaint () ; lpaint() A > v RZFEOH 3

IR

myBtn[1].addActionListener (new ActionListener () { J7E AR 2
public void actionPerformed (ActionEvent e) {

flag=1; GvlEs
N=100; 1A E—F(0.1F)
repaint () ; lpaint() A ¥ v RZFEONH 3

});

myBtn [2].addActionListener (new ActionListener () { IR &
public void actionPerformed (ActionEvent e) {

flag=2; I8+
N=1000; HNAE—FR(1#)
repaint () ; llpaint() A > v R&MEOH 9

IR

myBtn [3].addActionListener (new ActionListener () { N 1R &
public void actionPerformed (ActionEvent e) {

flag=3; I58R ]+
repaint () ; llpaint() AV v RZ&FEOH 3

1;
} /lpublic void init ()

/****** pUb|IC VOId Start () @Eﬁﬁé ************************************************************/

public void start () {
if (myTh==null) {
myTh=new Thread (this) ; AV RaEZRET 2
myTh.start () ; AV > K& %)

} lpublic void start ()

/****** public Void run () O)F%ﬁﬁé\ *************************************************************/
public void run () { A4~y R < T B RIT DS
while (true) {

try {
myTh.sleep(N);  /HKTp

catch (InterruptedException e) {

}
if (flag==1 || flag==2) {
repaint () ; lpaint() A ¥ v RZ IO

}

/****** pUb'IC VOId pal nt (Graphlcs g) @ Eﬁ ﬁé\ ***************************************************/

public void paint (Graphics g) {
if (myMt.checkID(0)) {

ARG & IR & &Lz & X
if (flag==0) {
g.clearRect (0,0,300,350) ; XNV NS
d1=0;d2=0;d3=0;d4=0;d5=0;d6=0;d7=0; HEE DAL
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g.drawlmage (img[0],65,30+10,this); /A< A D U % AT AR
g.drawString (" A < A/",65+3,75+10) ;

g.drawlmage (img[1],135,30+10,this) ; //B < A D U % AT A TR
g.drawString ("B < A/",135+3,75+10) ;

g.drawlmage (img[2],205,30+10,this) ; //C < A D U % AT AFRIR
g.drawString (" C < A/",205+3,75+10) ;

g.drawString (" &\ Z D [F1#5="+d1,40,110) ;
g.drawString (" A 72 1F 23 o [a1 % ="+d2,40,130) ;
g.drawString (" B 7217 23 5> [E1%r ="+d3,40,150) ;
g.drawString (" C 7217 23 s > a1 %k ="+d4,40,170) ;
g.drawString (" A 7215 23 AT 5 [E1E="+d5,40,190) ;
g.drawString (" B 7217 23 &1 1T 5 [B1%="+d6,40,210) ;
g.drawString (" C 721 23 1F 5 [E1%k="+d7,40,230) ;

g.drawString ("F2BR[A]%% ="+ct1,110,20) ; //FEBR[AIER D FoR

g.drawString ("Copyright (C) K.Niwa 2001.12",80,325); //IM{E # #* '~
}1if (flag==0)

HEEHAR L v FliT RERZ Ca LT &
else if (flag==1 | flag==2) {

Ctl++; I[ES HER
g.clearRect (0,0,300,350) ; IEXINOY e
HEEL DFRR
g.drawString ("&\ Z D [a1 %k ="+d1+" ( "+ ((float) (d1)/(float) (ctl))+")

"40,110) ;
g.drawString (" A 72 1F 28 o al$ ="+d2+" ( "+ ((float) (d2)/(float)
(ctl))+" )*",40,130);
g.drawString (" B 72 1F 25 5o E1# ="+d3+" ( "+ ((float) (d3)/(float)
(ctl))+" )",40,150);
g.drawString (" C 72 1F 28 s lal$ ="+d4+" ( "+ ((float) (d4)/(float)
(ctl))+" )",40,170);
g.drawString (" A 721 3 AT S [ ="+d5+" ( "+ ((float) (d5)/
(float) (ctl))+" )",40,190);
g.drawString ("B 72 1F 28 A 1T 5 [EFE="+d6+" ( "+ ((float) (d6)/
(float) (ct1))+" )",40,210);
g.drawString (" C 7213 23 AT 5 Bl ="+d7+" ( "+ ((float) (d7)/
(float) (ct1))+")",40,230);
g.drawString ("7=72 L. () NIFHEIGEZFRT, "40,260);

g.drawString ("5 5k [5] % = "+ct1,110,20) ; IIFEBRIE 5 D £ R
g.drawString ("Copyright (C) K.Niwa 2001.12",80,325); //[{E#& R

PRI DAL A s BL A CLAD U R AT AD S
g.drawString (" A < A",65+3,75+10) ;
g.drawString ("B < A/",135+3,75+10) ;
g.drawString (" C < A/",205+3,75+10) ;

for (ct=1;ct<=2;ct++) {

g.drawlmage (img [0],65,30+10,this) ;
g.drawlmage (img[1],135,30+10,this) ;
g.drawlmage (img[2],205,30+10,this) ;
for (t=1;t<=1000000;t++) {}
g.drawlmage (img[1],65,30+10,this) ;
g.drawlmage (img[2],135,30+10,this) ;
g.drawlmage (img[0],205,30+10,this) ;
for (t=1;t<=1000000;t++) {}
g.drawlmage (img[2],65,30+10,this) ;
g.drawlmage (img[0],135,30+10,this) ;
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g.drawlmage (img[1],205,30+10,this) ;
for (t=1;t<=1000000;t++) {}

}
A AD U % AT A OHHr

r1=(int) (1+3*Math.random()); HELE 1 ~ 3 28 B+ %

if (r1==1) { 17—

} g.drawlmage (img [0],65,30+10,this) ;

else if (r1==2) { I[Fa %
g.drawlmage (img[1],65,30+10,this) ;

else if (r1==3) { At

g.drawlmage (img[2],65,30+10,this) ;

B AD T S AT DR W

r2=(int) (1+3*Math.random()); L1 ~ 3 285275
if (r2==1) { 77—

} g.drawlmage (img[0],135,30+10,this) ;

else if (r2==2) { HF =2 %

} g.drawlmage (img[11,135,30+10,this) ;
else if (r2==3) { 73—
g.drawlmage (img[2],135,30+10,this) ;

HHC LK AD U AT Al
r3=(int) (1+3*Math.random()): IELE 1 ~ 3 2859 5

if (r3==1) { .
g.drawlmage (img[0],205,30+10,this) ; 7 —
else if (r3==2) {
} g.drawlmage (img[1],205,30+10,this) ; I =a %
else if (r3==3) {
} g.drawlmage (img[2],205,30+10,this) ; 73—
¥ &8 T O
&z
if (rl==1 && r2==1 && r3==1) {
dl++;

}
else if (r1==2 && r2==2 && r3==2) {
dl++;

}
else if (r1==3 && r2==3 && r3==3) {
dl++;

}
else if (r1==1 && r2==2 && r3==3) {
dl++;

}
else if (r1==1 && r2==3 && r3==2) {
dl++;

}
else if (r1==2 && r2==3 && r3==1) {
dl++;

}

else if (r1==2 && r2==1 && r3==3) {
dl++;

}
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else if (r1==3 && r2==1 && r3==2) {
dl++;
}

else if (r1==3 && r2==2 && r3==1) {
dl++;
}

HATZ TR
if (rl==1 && r2==2 && r3==2) {
d2++;

}
else if (r1==2 && r2==3 && r3==3) {
d2++;

}

else if (r1==3 && r2==1 && r3==1) {
d2++,

}

HB72T B>
if (r1==2 && r2==1 && r3==2) {
d3++;

}
else if (r1==3 && r2==2 && r3==3) {
d3++;

}

else if (r1==1 && r2==3 && r3==1) {
d3++;

}

HC T2 D3>
if (rl==2 && r2==2 && r3==1) {
d4++;

}
else if (r1==3 && r2==3 && r3==2) {
d4++;

}

else if (r1==1 && r2==1 && r3==3) {
d4++;

}

AT T RET D
if (r1==1 && r2==3 && r3==3) {
d5++;

}
else if (r1==2 && r2==1 && r3==1) {
d5++,

}

else if (r1==3 && r2==2 && r3==2) {
d5++;

}

B2 RNET 5
if (r1==3 && r2==1 && r3==3) {
d6++;

}
else if (r1==1 && r2==2 && r3==1) {
d6++;

}

else if (r1==2 && r2==3 && r3==2) {
d6++;

}
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HCTET AT 5
if (r1==3 && r2==3 && r3==1) {
d7++;
}

else if (r1==1 && r2==1 && r3==2) {
d7++;

}
else if (r1==2 && r2==2 && r3==3) {
d7++;

}
g.clearRect (0,90,300,200) ; //#:DH 2

IR DR
g.drawsString (*& > Z DL ="+d1+" ( "+ ((float) (d1)/(float) (ct1))
+')"40,110);
g.drawString (" A 72V S F o[ %="+d2+" ( "+ ((float) (d2)/(f|oat)
(ctl))+" )"40,130);
g.drawString (" B 72 1F 28 5o E1# ="+d3+" ( "+ ((float) (d3)/(f|oat)
(ct1))+" )"40,150);
g.drawString (" C 72 1F 23 o[l $k ="+d4+" ( "+ ((float) (d4) / (float)
(ctl))+" )",40,170);
g.drawString (" A 72 1F 28T 5 [EIFE="+d5+" ( "+ ((float) (d5)/
(float) (ctl))+" )",40,190);
g.drawString ("B 7213 23 AT % [ElE ="+d6+" ( "+ ((float) (d6)/
(float) (ct1))+" )",40,210);
g.drawString (" C 7217 23 A1 2 [ ="+d7+" ( "+ ((float) (d7)/
(float) (ct1)) +" )" ,40,230);
gdrawString("7=72 L, ( YNIZHIGEZZFRT, "40,260);
drawString ("Z2BR 1% = "+ct1,110,20) J// FEBRE L 0 7
} lelse if ?flag

MEIERZ 2 LT- & &
else if (flag==3) {

AL D L% AT ADH T
if (r1==1) {
g.drawlmage (img [0],65,30+10,this) ;

else if (r1==2) {
g.drawlmage (img[1],65,30+10,this) ;

else if (r1==3) {
g.drawlmage (img[2],65,30+10,this) ;

1B < AD L% AT ADH| T
if (r2==1) {
g.drawlmage (img[0],135,30+10,this) ;

}
else if (r2==2) {
g.drawlmage (img[1],135,30+10,this) ;

else if (r2==3) {
g.drawlmage (img[2],135,30+10,this) ;

HC < AD U AT Al
if (r3==1) {
g.drawlmage (img[0],205,30+10,this) ;

else if (r3==2) {
g.drawlmage (img[1],205,30+10,this) ;
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}

else if (r3==3) {
} g.drawlmage (img[2],205,30+10,this) ;

g.drawString (" A < A/",65+3,75+10) ;
g.drawString ("B < A/",135+3,75+10) ;
g.drawString (" C < A/",205+3,75+10) ;

HEH DFoR
if (ct1>0) {
g.drawString ("& N Z O [EE="+d1+" ( "+ ((float) (d1)/
(float) (ct1))+" )*,40,110);
g.drawString (" A 721 23 o [ml$ ="+d2+" ( "+ ((float)
(d2)/(float) (ct1))+" )",40,130);
g.drawString (" B 7Z1F 23 5o A% ="+d3+" ( "+ ((float)
(d3)/(float) (ct1))+" )",40,150);
g.drawString (" C 721F 23 o [m1$ ="+d4+" ( "+ ((float)
(d4)/(float) (ct1))+" )",40,170);
g.drawString (" A 7215 A AT B [EIE="+d5+" ( "+ ((float)
(d5) / (float) (ct1))+" )",40,190);
g.drawString ("B 7217 23 1F 5 [EIE="+d6+" ( "+ ((float)
(d6)/ (float) (ctl))+" )",40,210);
g.drawsString (" C 7217 23T B [ ="+d7+" ( "+ ((float)
(d7)/(float) (ct1))+" )",40,230);
g.drawString ("7=72 L. ( )RIFEIEERT, "40,260);
else {

g.drawString (" &\ Z D [F] % ="+d1,40,110) ;
g.drawString (" A 7217 23 5o a1 %k ="+d2,40,130) ;
g.drawString (" B 72 1F 23 s> [a] 4% ="+d3,40,150) ;
g.drawString (" C 7217 23 5D [E1 % ="+d4,40,170) ;
g.drawString (" A 72 (7 23 AT 5 [E1 %k ="+d5,40,190) ;
g.drawString (" B 7217 23 A1 1T 5 [E1%="+d6,40,210) ;
g.drawString (" C 7213 23 & 1F 5 [B1%="+d7,40,230) ;

}
g.drawString ("FZB& A1 % ="+ct1,110,20) ;// FZER [ 55 D FE R
g.drawString ("Copyright (C) K.Niwa 2001.12",80,325) ; /I{E & & '/~
}Iif (flag==3)
}1if (myMt.checkID (0))
} lpublic void paint (Graphics g)
Hipublic class Gyanken extends Applet

(2) HTMLVYU X |

<HTML>
<HEAD>
<
[3ADULRATA]
Copyright (C) K.Niwa 2001.12.20
>
</HEAD>
<BODY>
{CENTER>
<B> T3 ADULRAITA] B>
<BR><BR>
{APPLET CODE="Gyanken2.class" WIDTH="300" HEIGHT="350"> </APPLET>
<BR><BR>
{/CENTER>
</BODY>
<HTML>
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3. Java7r XU Ahb—vay-alIL5)RE
T i i

Ik Ik
1l [TF3ANDURAITA 1
I Copyright (C) K.Niwa 2002.08.19 I
/I (JavarZUr—3ay) I

I I
I T T T T

import java.awt.*;
import java.awt.event.*;
import java.lang.Math;

public class FGyanken2 extends Frame implements Runnabl

Thread myTh;
Button[] myBtn;
Panel myPaneI;

int im

Image%] img;
MediaTracker myMt;
int flag=0;

int r1=1,r2=2,r3=3;
int ct1=0;

long t;

{
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mi}
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IR & R
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HAT 47 8T
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NNl

[
HEH
A
il
il
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N

int d1=0,d2=0,d3=0,d4=0,d5=0,d6=0,d7=0; %R

int ct;
int N=1000;
/lint count1=0;

T 2 AT ADERN—T T 2 —
ASEUBEYES
HFEYDOSGED T T b

> =
/****** 7 V_‘A k /]’ _/\“/ }\ O)ﬂi%%**********************************************************/

public FGyanken2 () {
setSize (300,360) ;

|7 L —AhDKE X

addWindowL.istener (new WindowAdapter ) { /IFAC AR % > DA N> LB
public void windowClosing (WindowEvent e) {
System.exit (0) ;

}
IR

myTh=null;
if (myTh==null) {

myTh=new Thread (this) ;
myTh.start () ;

int count;
imgNo=0;
img=new Image[3];

r1=1;r2=2;r3=3;

img [0]=Toolkit.getDefaultToolkit () .getimage ("guu.jpg"); /12—
img[ 1] =Toolkit.getDefaultToolkit ) .getimage ("pii.jpg");
img[2]=Toolkit.getDefaultToolkit () .getimage ("paa.jpg’ oF

myMt=new MediaTracker (this) ;

ALV FOHIHEI L
AL > RoEKAL

HA VY REBHT 5
HI—T"Tg 5 o 4 —

A A — B DR

/|7 —F 3 ¥ /3—OPIHL
{?ﬁ@n}bgfkﬁ
ﬁ%a%ﬁ@@uﬁﬁﬁ
117X — B D FE Tr A T

HAT 47 & F v I —DFEE

for (count=0;count<=2;count++) {

myMt.addImage (img [count],0) ;

[T SR VA VDY et R Sy s
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try {
myMt.waitForID (0) ;

catch (InterruptedException e) {

myBtn=new Button[4]; IR B DFERAL
myBtn[0]=new Button ("#J#1{k");
myBtn[1]=new Button ("= #");
myBtn[2]=new Button ("{& #");
myBtn[3]=new Button ("{s¢ 1E");
myPanel=new Panel (); IR EVIAPE N4

myPanel.setLayout (new GridLayout(1,4)); W2 NVv%m 7 Uy RbAT 7 MTT 5
for (count=0;count<{=3;count++) {

| myPanel.add (myBtn[count]); SRR AZRE Z2 /0 155
setLayout (new BorderLayout() ) ; KR —2—L A7 7 MITD
add ("South",myPanel) ; X% FEIZBE D AT %

myBtn [0].addActionListener (new ActionListener () { AR &
public void actionPerformed (ActionEvent e) {

flag=0;

ct1=0; JESEIk='s

r1=1;r2=2;r3=3; 27—z 3=k
repaint () ;

IR

myBtn[1].addActionListener (new ActionListener () { JI7E AR 2
public void actionPerformed (ActionEvent e) {
flag=1;
N=100;
repaint () ;

});

myBtn [2].addActionListener (new ActionListener () { IR &
public void actionPerformed (ActionEvent e) {
flag=2;
N=1000;
repaint () ;

IR

myBtn [3].addActionListener (new ActionListener () { IMEER &
public void actionPerformed (ActionEvent e) {
flag=3;
repaint () ;

1;
} llpublic FGyanken2 ()

/****** pub“c Void run ()0)Eﬁﬁé\**************************************************************/
public void run () {
while (true) {

try {
myTh.sleep(N);  /H{KTe

catch (InterruptedException e) {}

if (flag==1 || flag==2) {
repaint () ;
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}
} lipublic void run ()

/****** pUb'IC VOId palnt(GrapthS g) @F;ﬁﬁé\ ***************************************************/

public void paint (Graphics g) {
if (myMt.checkID(0)) {

ITIRAE & WIHULR 2 2 LTz & =

if (flag==0) {
g.clearRect (0,0,300,350) ; IEXNDF A e
d1=0;d2=0;d3=0;d4=0;d5=0;d6=0;d7=0; HE DAL

g.drawlmage (img[0],65,30+10,this); /A< A D U % AT AR
g.drawString (" A < A/",65+3,75+10) ;

g.drawlmage (img[1],135,30+10,this) ; //B < A D U % AT AR
g.drawString ("B < A/",135+3,75+10) ;

g.drawlmage (img[2],205,30+10,this) ; //C < A D U % AT A TR
g.drawString (" C < A/",205+3,75+10) ;

g.drawString (" @&\ Z D [A] %% ="+d1,40,110) ;
g.drawString (" A 7217 23 5o [E1 % ="+d2,40,130) ;
g.drawsString (" B 721 23 s> a5k ="+d3,40,150) ;
g.drawString (" C 72 1F 23 s [a1 4% ="+d4,40,170) ;
g.drawString (" A 7215 23 AT 5 [B1%="+d5,40,190) ;
g.drawString (" B 7217 3 A 1T % A3 ="+d6,40,210) ;
g.drawString (" C 7213 23 A 1T 5 [E15="+d7,40,230) ;

g.drawString (" 525k [E1 4 = "+ct1,110,20) ; IR D F R
g.drawString ("Copyright (C) K.Niwa 2002.08",80,325); //{E # #* '~
}1if (flag==0)

@A v FlL KA Z 2Lz e &
else if (flag==1 || flag==2) {

Ctl++; I[ES HER
g.clearRect (0,0,300,350) ; IEXINOY e
¥ D F o
g.drawString ("% Z D [E % ="+d1+" ( "+ ((float) (d1)/(float) (ct1))

+" )"40,110);
g.drawString (" A 721 2 o a5 ="+d2+"  ( "+ ((float) (d2)/(float)
(ctl))+" )"40,130);
g.drawString ("B 721 235 > EIE ="+d3+" ( "+ ((float) (d3)/(float)
(ctl))+" )",40,150);
g.drawString (" C 721 2M o [E 5k ="+d4+"  ( "+ ((float) (d4)/(float)
(ctl))+" )",40,170);

g.drawString (" A 721 3 AT B [l ="+d5+" ( "+((float) (d5)/
(float) (ct1))+" )",40,190);

g.drawString ("B 7Z1F 28 AT 5 [EIFE="+d6+" ( "+ ((float) (d6)/
(float) (ctl))+" )",40,210);

g.drawString (" C 7213 23 AT 5 Bl ="+d7+" ( "+ ((float) (d7)/
(float) (ctl))+" )",40,230);

g.drawString ("7z72 L. () NIFHEIGEZFRT, "40,260);

g.drawString (32 [E1% ="+ct1,110,20) ; IEBREH D FoR

g.drawString ("Copyright (C) K.Niwa 2002.08",80,325) ; //{E #& % 7=
PRI AL A s BL A s CL AD L= AT AD SR

g.drawString (" A < A",65+3,75+10) ;

g.drawString ("B < A/",135+3,75+10) ;
g.drawString (" C < A/",205+3,75+10) ;
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for (ct=1;ct<=2;ct++) {
g.drawlmage (img [0],65,30+10,this) ;
g.drawlmage (img[1],135,30+10,this) ;
g.drawlmage (img[2],205,30+10,this) ;
for (t=1;t<=1000000;t++) {}
g.drawlmage (img[1],65,30+10,this) ;
g.drawlmage (img[2],135,30+10,this) ;
g.drawlmage (img[0],205,30+10,this) ;
for (t=1;t<=1000000;t++) {}
g.drawlmage (img[2],65,30+10,this) ;
g.drawlmage (img[0],135,30+10,this) ;
g.drawlmage (img[1],205,30+10,this) ;

} for (t=1;t<=1000000;t++) {}

HA L AD T AT A Ol
r1=(int) (1+3*Math.random());
if (rl==1) {
g.drawlmage (img[07,65,30+10,this) ;

}
else if (r1==2) {
g.drawlmage (img[1],65,30+10,this) ;

else if (r1==3) {
g.drawlmage (img[2],65,30+10,this) ;

B AD U AT Al
r2=(int) (1+3*Math.random ()) ;
if (r2==1) {
g.drawlmage (img[0],135,30+10,this) ;

}
else if (r2==2) {
g.drawlmage (img[1],135,30+10,this) ;

else if (r2==3) {
g.drawlmage (img[2],135,30+10,this) ;

HC < AD U AT A D
r3=(int) (1+3*Math.random () )
if (r3==1) {
g.drawlmage (img[0],205,30+10,this) ;

else if (r3==2) {
g.drawlmage (img[1],205,30+10,this) ;

else if (r3==3) {
g.drawlmage (img[2],205,30+10,this) ;

I B80T O] e
=
if (rl==1 && r2==1 && r3==1) {
dl++;

}
else if (r1==2 && r2==2 && r3==2) {
dl++;

}

else if (r1==3 && r2==3 && r3==3) {
dl++;

}
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else if (r1==1 && r2==2 && r3==3) {
dl++;

}
else if (r1==1 && r2==3 && r3==2) {
dl++;

}
else if (r1==2 && r2==3 && r3==1) {
dl++;

else if (r1==2 && r2==1 && r3==3) {
dl++;

}
else if (r1==3 && r2==1 && r3==2) {
dl++;

}
else if (r1==3 && r2==2 && r3==1) {
dl++;

}
HATZ TR
if (rl==1 && r2==2 && r3==2) {
d2++;

}
else if (r1==2 && r2==3 && r3==3) {
d2++;

}
else if (r1==3 && r2==1 && r3==1) {
d2++;

}
BT HREE>
if (r1==2 && r2==1 && r3==2) {
d3++;

}
else if (r1==3 && r2==2 && r3==3) {
d3++;

}
else if (r1==1 && r2==3 && r3==1) {
d3++;

}
HCTETREE->
if (rl==2 && r2==2 && r3==1) {
d4++,

)
else if (r1==3 && r2==3 && r3==2) {
d4++,

}
else if (r1==1 && r2==1 && r3==3) {
d4++,

}
HATZTHRAT S
if (rl==1 && r2==3 && r3==3) {
d5++;

}
else if (r1==2 && r2==1 && r3==1) {
d5++;

}
else if (r1==3 && r2==2 && r3==2) {
d5++;

}
IBETHRAT S
if (r1==3 && r2==1 && r3==3) {
d6++;

}
else if (r1==1 && r2==2 && r3==1) {
d6++;
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}
else if (r1==2 && r2==3 && r3==2) {
d6++,

1
HCTZTNAET D
if (r1==3 && r2==3 && r3==1) {
d7++;

}
else if (r1==1 && r2==1 && r3==2) {

d7++;
}
else if (r1==2 && r2==2 && r3==3) {
d7++;
}
g.clearRect (0,90,300,200) ; //F:DiH 2%
HEEDFER
g.drawString ("% Z O [E % ="+d1+" ( "+ ((float) (d1)/(float) (ct1))

+" )"40,110);
g.drawString (" A 721 2 o A5 ="+d2+"  ( "+ ((float) (d2)/(float)
(ctl))+" )"40,130);
g.drawString ("B 721 2S5 > EIE ="+d3+" ( "+ ((float) (d3)/(float)
(ctl))+" )"40,150);
g.drawString (" C 7213 23 o [El 5k ="+d4+"  ( "+ ((float) (d4)/(float)
(ctl))+" )",40,170);

g.drawString (" A 721 3 AT S [ ="+d5+" ( "+((float) (d5)/
(float) (ct1))+" )",40,190);

g.drawString ("B 7Z1F 28 A 1T 5 [EIFE="+d6+" ( "+ ((float) (d6)/
(float) (ctl))+")",40,210);

g.drawString (" C 7213 23 AT 5 Bl ="+d7+" ( "+ ((float) (d7)/
(float) (ct1))+")",40,230);

g.drawString ("7z72 L, () NIFHEIGEZERT, "40,260);

g.drawString ("Z2 Bk [ % = "+ct1,110,20) ;// EBR[E Sk D 3R~
}Hielse if (flag==2)

IMEIER X LT & &
else if (flag==3) {
A< DT AT A D¥ Wy
if (ri==1) {
g.drawlmage (img[07,65,30+10,this) ;

else if (r1==2) {
g.drawlmage (img[1],65,30+10,this) ;

else if (r1==3) {
g.drawlmage (img[2],65,30+10,this) ;

B < AD L AT D
if (r2==1) {
g.drawlmage (img[0],135,30+10,this) ;

}
else if (r2==2) {
g.drawlmage (img[1],135,30+10,this) ;

else if (r2==3) {
g.drawlmage (img[2],135,30+10,this) ;
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IIC L AD T AT ADHW
if (r3==1) {
g.drawlmage (img[0],205,30+10,this) ;

}
else if (r3==2) {
g.drawlmage (img[1],205,30+10,this) ;

else if (r3==3) {
} g.drawlmage (img[2],205,30+10,this) ;

g.drawString (" A < A/",65+3,75+10) ;
g.drawString ("B < A/",135+3,75+10) ;
g.drawString (" C < A/",205+3,75+10) ;

HERDFR

if (ct1>0) {
g.drawString ("& > Z O [E#="+d1+" ( "+ ((float) (d1)/
(float) (ct1))+" )*",40,110);
g.drawString (" A 72 1F 23 5o A% ="+d2+" ( "+ ((float)
(d2)/(float) (ct1))+" )",40,130);
g.drawString (" B 7217 23 [ml$ ="+d3+" ( "+ ((float)
(d3)/(float) (ct1))+" )",40,150);
g.drawString (" C 721F 2352 [E1% ="+d4+" ( "+ ((float)
(d4)/(float) (ct1))+" )",40,170);
g.drawString ("A 72T 23 AT 5 EIFE="+d5+" ( "+ ((float)
(d5)/(float) (ct1))+" )",40,190);
g.drawString ("B 7Z1F 23 & 1T 5 [EF="+d6+" ( "+ ((float)
(d6)/ (float) (ctl))+" )",40,210);
g.drawString (" C 721 AT B [al#="+d7+" ( "+((float)
(d7)/(float) (ct1))+" )",40,230);
g.drawString ("7272 L. ( )PIFEIEERT, ",40,260);

else {

g.drawString (" @\ Z D [a] %% ="+d1,40,110) ;

g.drawString (" A 7217 23 5o [E1 % ="+d2,40,130) ;

g.drawsString (" B 7217 23 B> [R5k ="+d3,40,150) ;

g.drawString (" C 7217 23 s> 815k ="+d4,40,170) ;

g.drawString (" A 7217 23 AT 5 [E1%="+d5,40,190) ;
‘a; ST B [ ="+d6,40,210) ;

l

g.drawString ("B 7217 7
?.drawString ("C 72T MAT D [EH="+d7,40,230) ;

g.drawString ("SZB& [A1%% ="+ct1,110,20) ;// EER [ 5 D FE R~ B
g.drawString ("Copyright (C) K.Niwa 2002.08",80,325); //{E # & 7~

}Iif (flag==3)
}if (myMt.checkID (0))
} lpublic void paint (Graphics g)

/****** publ IC StatIC VOId mal n )( \/y I\‘ **********************************************************/

public static void main (String[] args) {
Frame w=new FGyanken2 ();

w.show () ;

} lpublic static void main (String[] args)

} llpublic class FGyanken extends Frame implements Runnable
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